EARAROBREBRT —5 XN—ZXBISH—F 2023558178 (k) 3mP9EI1H

ﬁﬁﬁ% K HS5R3mOP BRI
[AXE%) 1 %:1,000,000 9 ~ 237&:280,000H  33#%:210,000H . 43#&:140,000 M ~ 5 3&:70,000 M
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= 3 | RNEH 1:50.6 1-2-1-1 |[#1.3| — 4 464 | BIIFEHE (JbiEE)
1155 |ARZ/EY 55.0 =) _y | HEsE®
RS IILITYR BAs2D D FU3vor—0
2UHUFFILR w3 | giE 1:(50).8 5522 |41.2| — | 1 | 4% gg%gﬁ Rle)
o 1 =)
R b eHIO—U— XAV aDTL—F 020) | mmming
° Lo 4 3 | BREC 1:50.9 3-3-2-2 [41.3| - 2 492 | KIIF (bss)
f\\'j |\’jt 7:)|J . 55.0 (172) (-6) i‘PEET:T?E
RiFAXF BAIRTAFvY SRS
JILFT 3 3 g‘%ﬂ( 1:(51).3 5-6-5-4 | 41.0| — 5 452 J*I/I%HEA (6[a:))
. 2 =21
RIRTVFUY BFO9F— SRS e
o i~ %3 | FIEREE 1:54.2 4465 (433 — | 3 | 42 |AIBEE dLBE
E/\{_Z\\IJ_:'J_ . . 55.0 (94Y) (0) /JW*#%
R:bE=RX3—7F— B:IVRUVRIILY e
~) )= 3T~ 4 3 | BRERXSE 1:57.1 1-1-2-6 | 47.0| — 6 468 | IERFX (bigE)
6|11 | %.0 549 o |PERE
R:TFUT4F5R B:75E—5 YUY v A RIS
® 1—F—BEBIEfI
13—3— (1,5).,6,2, (3,4
20— — 1,5,6,2,4,3
IT=5r= 5,(1.4,6),3,2
43—F— 5,(4,6),3,2,1
o ILRE
BB 5 1,220H JA R 4-5 130H B E 4-5 330 3EE 4-5-6 440
g B 5 210M 5-6 590 =51 5-4 2,670 3EH 5-4-6 7,570M
4 1004 4-6 180H

ABIC OV TRUTEREERRODDZE. THRIIZEL.



